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Example 1: Find a time based parameterization for a revolute joint of a manipulator. The joint
should move from 0to0.5 rad from time t= 0 to t=1 sec followed by movement from 0.5 rad tol 1
rad in from t=1 to £=3 secs. Also, the veIouty of the joint at the start of motlon (t=0) and end of

motion (t= 3) should be 0 and the velocity of the joint at the |Q_t/e_r\r_n/e\th (t=1) should be 0 2
Y

“
rad/s. Assume two m|n|maI order polynomials of time, one for each movement.
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Vv,

(Example 2: Find a time based parameterization for a revolute joint of a manipulator. The joint
should move from 0 to 0.5 rad from time t=0 to t=1 sec followed by movement from 0.5 rad to 1
rad |‘n from t=1 to t=3 secs. Also, the veloujcy of the Jo.m.t at the st'art of mg'tlon gth) and end of
motion (t=3) should be ()?and the acceleration of the joint at the intermediate point (t=1) should
be continuous. Assumé€ two minimal order polynomlalsme, one for each movement.
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